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SECTION -1 / @UE - I
CHILD DEVELOPMENT AND PEDAGOGY
e faere wd foramomer
There are 30 questions in all in this Section.
All questions are compulsory.
WEEHFA 0T E |
|t v e § )

1. Which of the following statements is not true about development ?
(A)  Development is the product of interaction
(B) Development follows an orderly sequence
(C)  Development is individualized process
(D) Development proceeds from specific to general.
fEAddsR-wem fTem Fan d g @ & 2
A fawm safEa # e (B) Towm uw =mafem faen #1 st §
(€ fowm o =afemm wfwan @ D) T fafoe | = # st dm ¥

2.  Children’s thinking is grounded in concrete experiences and concepts rather than
abstractions. It is the stage from

(A) 7 to 12 years (B) 12 to adulthood
(C) 2 to7years (D)  birth to 2 years.
ATl Y W= ST ST P STvEl Ud Tt ¥ g § 1 3w syeen @
() 79 1279 T (B) 129 9% 0%
€ 23 796 TH (D) ¥ 294 T |
3.  Human development is the product of joint contribution of both
(A) parents and teachers (B) sociological and cultural factors
(C)  heredity and environment (D) none of these.
Are fawra f6A < & drem & oftoms # 2
(A  AfEE ©d AT F (B HWIfS® A Wighfa® FRHI HI
(C) WHY Td AR F (D) T § *E T |
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4 (2]
Which of the following is not among the four determinants of intellectual growth stated
by Piaget ?
(A)  Social transmission (B) Experience
(C) Equilibration (D)  None of these.
=1 A 4 % = F sen difes fawm 1 fufes o =71 802
A | = B) FvE
(C) FgerHE (D) % 9 &% 7T |
Which of the following is a better strategy for teaching children with special needs ?

(A)  Discussion in the classroom involving maximum number of students

(B) Demonstration by teacher involving students

(C) Cooperative learning and peer tutoring

(D)  Ability grouping for teaching.

fady srEvgsa o 7= St wH % fau frafafag § § $R-9 o sfus svgs € 2
(A fushan =@ ) afnfaa F@ g s § =9 Fo0

(B) foenfdEi & wfimfem @ gu svvms g fAdwm

(© Fewr A qu disw =gefin ( wewfedl g smfaem )

(D) eAT9R & fere dram snufia wgEEw |

Ability of knowing the meaning of problem, weaknesses and gaps related to
environment is a characteristic of

(A)  Gifted children (B)  Average children

(C) Creative children (D)  None of them.

e & 3Y 61 T F Arga), GaE & e, sl e fifEE % ufs gerer favea #
(@ wfasmenedt sl i (B) W ATEH! H

(C) Horrile areel #i D) ¥ @ T |

A college girl developed the habit of dropping the coat on the floor. Mother asked the
girl to get out of the room and hang up the coat on the peg. The girl enters house,
keeps coat on, approaches closet, hang up the coat on the peg. It is an example of

(A)  Chain learning (B) Stimulus Response learning

(C) Concept learning (D)  all of these.

T FHicsl S Fel agw A By W HIE T F A A ol ¥ | A€H! F A A 39Q Fe R
FA Y AR M R FIE 1 G W AN | FLH IEA IR W F YAY T E, B H Y W
@ F HAIRI H WE T F R B G W @ ¥ | 7w e

(A  SEErE AT F (B) IErvH-srfEan sifam &

(C) g sy # (D) 79 ||t |
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Extrinsic motivation may include

1. Praise & Blame

II.  Rivalry

III. Rewards & Punishment

IV. Knowledge of results.
Of these :
(A) Iandlll (B) I, II and III
([C) Onlyl (D)  all of these.
Ay Aiyeren ¥ waEafee faar s

I 99E T SR

. wfagfgm

1. YO&FR T4 3Ue

Iv. 9ftom &1 919 |
THH
A 13 m B I, 1m3R 11
(C) FHad I (D) 79 | @it |

A process in which an individual learns new responses by observing the behaviour of
another rather than through direct experience is known as

(A)  Social learning (B)  Conditioning

(C) Experimental learning (D)  Incidental learning.

g wfsran © =af® gadl & =aer #1 @ F Higa ® 1 & vy oy &, Fwe o €
(A)  wmIfSE FAfams (B) FEA

() A afm (D) srfas sfam |

The symptom of learning disability is

(A) tendency to escape (B) restless, energetic and destructive
(C) disorders of attention (D)  lack of motivation.

stferme faifraen &1 @er &

(A) WA FT wgfa g (B) 3, SwaH o fawEas g
(C) zrEyF wrat ay / fawr (D) YN 1 HYEF |

The personal factor(s) which affect learning is / are

(A) Mass media (B) Peer group

[C) Teachers (D) Maturation and age.

sferma 1 wifaa & aen =Afera s &

(A)  HERF WA (B) HWaTE TYE

(C) FAYHF (D) 9ftygEa wd g |

IR BT [ PT.O.
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12.

13.

14.

15.

6 [A]
A cricket player develops the skill of bowling, but it does not affect his skill of batting.
It is known as

(A)  positive transfer of training (B)  negative transfer of training

(C)  zero transfer of training (D)  none of these.

% fofrhe faemgt st fgarstt & wive &1 fawfaa o am 8, W 9% 39%F SeoE ¥ Fivd
weifea & #xar | 59 Fea ¥

@) fadgmms wfaeo s B) furns gfgo s

(C) ¥ wivmeyor 7T D) = A K 7

Which of the following statements best shows the mental health of a person ?

(A)  Full expression, harmonization & goal direction

(B) Lack of mental disorders

(C)  Free of personality disorders

(D)  All of these.

=1 4 | Fih-w Fuw fadt = F amfos @ 7 399 w9 3 veffa @ & 2

@A) i sfveafs, snfaw st e @ &1 e fdvm

(B) wWAfHs fawri &1 7 €

©) =fea & faerl @ qfs

(D) 9 | asdt |

Though number of psychologists like Freud, Piaget explain personality development in
terms of stages but only Piaget talked of

(A)  developmental stages which are determined by the environment

(B) restricted effects of stages to early infant experience only

(C) cognitive transformation to explain stages

(D) none of these.

WI4S, I WE A wArail 3 SAfha fawr @ ot sewned & g d eren #t 1wy
ek

@A) we fF fawm =t et amaEre d fyifa e ¥

(B) e f Inmamaew & srva € sifus wwfaa o € art sremeiet & diftg v R #
(€ Tafvm sEeensdi #1 waem & fau daFras agaE & 9] ¥ e

(D) T ¥ & 7

Guilford has given the term ‘convergent thinking' as equivalent to
(A) Intelligence (B) Creativity

(C) Intelligence and creativity (D)  none of these.
firerg 3 sifiert famm’ wg 1 v s oo o § fam ® 2

@ s (B)  gSHATCH

(€ s Td gorArHea (D) ¥ % T

MR
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16. Which statement is not true about interest ?
(A) Interests are innate and acquired
(B) Interests change with time
(C) Interests are not related to capacities and aptitude
(D) Interests are not reflection of attraction and aversion in behaviour.

FAdIsR-mFy e & 9 § 99 78 € ?

A) sfeal s 3R afsa 9 Bt #

(B) ¥feal ¥9a & HATER seerd! @t §

() feal dramstl wd sifusmmel @ wrafyg 72 et ¢

(D) Ffeal sraer § sy ud famdo F giifaa 78 € )
17. The attitude is

(A) an emotionalized tendency organised through experience to react positively or
negatively towards a psychological object

(B) a characteristic that is symptomatic to the individual's ability to acquire with
some specified training, some knowledge or skill in a given field

(C) a potential ability of an individual of a specialized kind

(D) none of these.

st
(A)  TF vETHE gfa St osva F gr w@ifed g feet wdete e % wfa et @
AqEet % w9 § gfafmar st
(B) UF T o < =t %1 draw 1 v § 99 e wew a9 F fafum wfnew, @
SYya Hrve ¥ HEn S gEa &
(€ =afF &t deya gmar & 5 e yar #t ad @
(D) T8 qFE T |
18. In personality as well as intelligence heredity plays
(A) anominal role (B) a great role
(C)  unpredictable role (D)  fascinating role.
=afee wE g # durghy &
(A) THEE H i § (B) wWewqul yfae &
(©)  HAYargaa vfoe @ (D) T it ? |
19. Which of the following is the storehouse of our unfulfilled desires ?
@ 1d (B) Ego
(C)  Superego (D) 1d & Ego.
fom geoedl &1 gfd & <relt, 37 s Fra A A FH-w R 2
A FEH (B) HEH
€) W IF‘H (D) 3EH W@ e |

(P | PT.O.



L-2
20.

21.

22.

23.

24,

:
Defence mechanism helps us a lot in dealing with

(A)  violence (B) stress

(C) fatigue (D)  strangers.

& TF aga e F@ €

(A fEwd e (B) @& | fqed §

© =M | frged § (D) sreAfadl | g #

Which of the following will serve as a most satisfying defence mechanism for the
physically handicapped individual ?

(A) Identification (B) Rationalization

(C) Fantasy (D)  None of these.

ifE fafam ae =afe & fau f7 § @ SR- 3% @ a3 ga) garesms g 2

(A)  TTETCHIEHTY (B) faawiw

€ Hfawed (D) & | %8 T |

Children's Apperception Test was designed for children between ages 3 and 10. The

CAT cards substitute
(A)  non-living objects for living objects (B}  animals for people
(C) females for males (D) children for adults.

ATAF FHTEAY GHEO 3T F 10 FY Fi G F AIh] F A F= T #1379 wa F w7 F
wfoenfya fa ™ &

(A) EoiE T F WA R STaagaAiF (B) @Ml % H W IHE
(C) T&u F TUE W Higensii =i (D) T F WH T AcTH #i |

In order to nurture creativity, a teacher should take help of which of the following
methods ?

(A)  Brainstorming (B) Lecture method

(C)  Audio-visual aids (D)  All of these.

gerRiterar % v % fore uw s w1 e 3 | feg fafy 6t gema o4 =ifeg 2
@A) & =ifdn / fFErEy (B) =@M fafy

(© 3v3-7=7 |t (D) THIT |

Which of the following statements is incorrect ?

(A)  Need is not a physiological stage of deprivation
(B) Drive is a psychological consequence of a need
(C) Need and drive are parallel but not identical
(D) Instincts are innate biological force.



25.

26.

27.

fAddsn-asm g = ?

(A)  HAEFEHA GO H IR e T2 2

(B) I STavashal &1 HATdgTe gfomy &

(C) EvFSFal Ud sTadie 99 &1 &, dfcs FarmR €
(D) wewaradl sl Sfas aa § |

Right to Education Act, 2009 specifies the minimum number of working hours per
week for the teacher as

(A) forty hours (B) forty-five hours

(C) fifty hours (D) fifty-five hours.

foren =1 srfuer sifufam, 2009 # v e & fou =Fan =1 w2 wfa wae fuifa fed m &
(&) Ay e (B) Harefa w2

(C) Y=g w2 (D) Y99 He |

Right to Education Act, 2009 states that a teacher shall perform which of the following
duties ?

(A)  Maintain regularity and punctuality in attending school

(B) Conduct & complete the curriculum

(C) Complete entire curriculum in a specified time

(D)  All of these.

foen o1 sifusr sAfufam, 2009 9 & s &t fr 7 F g afam & Q@ s g 2
&) foucm ¥ fafmm €9 8 @ w safe @ m

(B) UISTHH FI WA F QW HET BT

(© @l sremEn =i frvif 'wa W qu wE g

(D) T F At |

National Curriculum Framework, 2005 suggests some activities to promote peace
education. Which one of the following is enlisted in the curriculum framework ?

(A)  Organise programmes to promote an attitude of respect and responsibility
towards women

(B) Teach moral education
(C) Teach peace education as a separate subject
(D) Integrate peace education in the curriculum.

WA UETREY w9, 2005 H wi g B g 3 F v g fewed # epmm o w #
erd ' § e F | ) g e # 2

(A wfeensti F wfa snet wd fomiert o gt fasfan =6 & fau sy st fe e
(B) HAfaw foen =1 werm 91

(©) i< fen =t w= 3w favg & w9 4 e 9

(D) =1 fren =t wrewey o wiwfem faar @

LT | PT.O.
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28. National Curriculum Framework, 2005 talks of major shifts from
(A)  knowledge as given and fixed as it evolves and is created
(B) educational focus to disciplinary focus
(C)  learner centric to teacher centric

(D) none of these.
YT wrT=al F:t w9, 2005 § st #i ¥
(A I R ¥ e s @ 9 e g @ el e w5 o @
B) IfEw FX A fawa FX A W
(€ forndi Ffzm @ seams Ffza #91 @in
(D) ¥H q *E 7T |
29. The objective of action research is to
(A)  gain new knowledge
(B) develop the science of behaviour in educational situations
(C) modify the educational practices in school and classroom
(D) all of these.
T ST w1 32T
(A) TEE IE w A
B) e uftfeafeal § sreer fogm =1 fawm
() Tommem qan wen 1 g w1 yonedt § gurR @
(D) FFH AT |

30. In the National Curriculum Framework, 2005 under the heading ‘Examination Reforms'
which of the following reforms has been suggested ?

(A)  Open book exams

(B] Continuous and comprehensive evaluation

(C) Group work evaluation

(D)  All of these.

Y =l wRa, 2005 F i witen gurl’ | fr A | frw gur 1 ggm a2
(A e gEE gl (B) Haa / FR=R T =9 geaisa

© wHfew Fd geais (D) TAH ||t |

LT
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WEE A FA 30U C |
wvt wed afard €
®19 3o uy & § 2
@ T B ¥
c = D =
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@  FW B Fw
© 3 (D) fEm

e wafral #1 ' oran’ @ s € 7
(A) WF ARG Y HA A e |t (B) dad &Y § =G &t

(€ TR % WY AR T At (D) =S F 9% A S gt st |
E R R

() feyfi B) WRdg

() AR (D) e |
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(&) ga: + B B) Fa: + BA

(€ w4 + B (D) 9% + B |

‘yaq’ vy @ qEd w9 B

<~

A 3 B) 34
() @ig (D) | |
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37. fagta a1ed =1 =iy =03 9 v F FEd ©
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(A uy-uef anfg B)  To-E e

© feemd anfe (D) sy afE |
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(A) e (B)  Haed

€ wed (D) @& |
44, ‘T HEAF .o, F1¢ 7l 91’ Aeg ¥ i A W 9gw e

@w = (B) 3R

€  eE (D) &¥E |
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@ TF B dgEH

) = (D) UH |

s faum fag A 2

W g fam B fam

(€ 3y fam (D) &WWE |
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W faE fog B feww

) =EF (D) 39 fawm |

' sEET 1 @Y 3o’ & fow sugew §

(A)  FEdt Tm A Ty uE (B)  3HVI-TTAIE TF FHLA
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‘3o Ty S w6 #1Y #
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“H 7 R ga T §, I 99 O 9 8 ¥ fog suge @
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(A T (TER) (B) HUER A

€ ¥ (D) FH q *E T |
‘fafe=t g’ W 3 g ¥

(&) WA FHT AR FHEm (B) =W & et

) o #d FEm (D) T | dH wW |
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€  sfege (D) @& |
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TH TRITY 1 v g

(&) FHTH HE (B)  3r=si d@ufq
() Eufa (D) I TN |
‘' % e #

@A) Fuw Wt (B) =& F Wi
(€ it & Tt (D) {1 H@fa |
TH T W FE vE R

(@) drfa & Hee B) T e
() +ify stk wggfa (D) ==fd |
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SECTION - II
LANGUAGE I
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

31. Which one of the following words is a verb ?
(A)  Sympathy (B)  Sympathise
(C) Sympathetic (D)  Sympathiser.
32. Fill in an appropriate determiner :
.............................. first item in today's programme is a song.

(A) The (B) A
(C) Any (D) Some.
33. Supply the correct form of the verb in the following sentence :
SN viuasiiniavevrisisise a new dress last week.
(A)  has bought (B) has been buying
(C)  buys (D)  bought.
34. Which one of the following sentences has the correct verb form ?
(A)  They already seen the film (B)  They already saw the film
(C) They will already see the film (D)  They have already seen the film.

35. May I enter your office ?
In the above sentence ‘may’ has the meaning of

(A)  permission (B)  possibility
(C) probability (D)  order.
36. To express 'necessity’ we use the modal
A} may (B) must
(C) can (D)  might.
37. Complete the phrasal verb in the following sentence :
I usually go to bed early and also get ..................... early.
(A)  out (B) off
(C up (D) into.
38. Which one of the following options will complete the phrasal verb in the following
sentence ?
The train slowed i and finally stopped.
(A)  up (B) over
(C) about (D)  down.

LIRTHR VN [ P.T.O.
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39.

40.

41.

42.

43.

44,

45.

16 [a]

Pick out the phrasal verb which means ‘to take care of" :
(A) run after (B) look after
(C) run into (D) look for.

Complete the phrasal verb in the following sentence :

The tourist guide pointed ..........cccocciviiinnnns the most important buildings.

(A) in (B) out

(C) off (D) on.

Which one of the following phrasal verbs means ‘to stop doing an activity or a job' ?
(A) take up (B) run down

(C) give up (D)  look for.

Which one of the options will complete the phrasal verb in the following sentence ?
Lhad to 8l ;aasnsagaass three forms to get my driving licence.

(A) up (B) into

(C) down (D) over,

The passive voice of ‘We make butter from milk’ is

(A) Butter is being made from milk

(B) Butter has been made from milk

(C) Butter was made from milk

(D) Butter is made from milk.

Which is the correct passive voice of the following sentence ?

They have painted the door.

(A) The door was painted (B) The door has been painted
(C) The door is painted (D)  The door be painted.
My sister said, “I am enjoying my work."”

In Reported Speech the above sentence will be

My sister said that

(A) she was enjoying her work

(B) I was enjoying my work

(C) she was enjoying my work

(D) I have been enjoying my work.
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Rahul said to Veena, “Please return my books early.”
In Reported Speech the above sentence will be
Rahul requested Veena to
(A) return her books early (B) return my books early
(C) return his books early (D)  return their books early.
Which one of the options has the same meaning as the following sentence ?
The Taj Mahal is the most beautiful building in India.
(A) India has many beautiful buildings
(B) The Taj Mahal is more beautiful than any other building in India
(C) India has only one beautiful building, the Tal Mahal
(D) The Taj Mahal is a beautiful building.
Pick out the correct ‘wh' question :
(A) How much money do you want ? (B) How much do you want money ?
(C) How much do you money want ? (D) How much money you want ?
Which one of the following words is similar in meaning to ‘purchase’ ?

(A) Buy (B) Sell

(C) Receive (D)  Supply.
The word ‘inspection’ is similar in meaning to

(A) interview (B) exercise
(C) getup (D)  check up.
The opposite of the word ‘support’ is

(A) help (B) argue

(C) oppose (D) return.
Which word is opposite in meaning to ‘interesting’ ?

(A) confusing (B) boring
(C) contrasting (D)  pleasing.
Choose the word with the correct spelling :

(A) fenancial (B) financiel
(C) finencial (D) financial.
Pick out the word which has been correctly spelt :

(A)  situetion (B) setuation
(C) situation (D) situasion.

L { PTO.
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Note : Please read the following stanza to answer Question Nos. 55 and 56 :
“The Jamuna's waters rush by so quickly,
The shadows of evening gather so thickly,
Like black birds in the sky ...

O ! If the storm breaks, what will betide me ?
Safe from the lightning where shall I hide me ?
Unless Thou succour my footsteps and guide me.
Ram re Ram ! [ shall die.”

55. “Like black birds” in the above lines in as example of

(A) metaphor (B) simile
(C) hyperbole (D) pun.
56. We can find an example of alliteration in the above lines in
(A) Ram re Ram (B) I shall die
(C) TheJamuna's waters (D) The shadows of evening.

57. Anelegyisa
(A) sad poem, usually about someone’s death
(B) love poem
(C) prayer
(D) poem about someone's marriage.
58. The phonetic symbol for the first sound ( underlined ) in the word 'ship’ is
w /7 (B) /sh/
€ /ch/ o /.

Direction for Question Nos. 59-60 : Pick out the correct phonetic transcription of the
following words :

59. Pick
(A /pllk/ B /pl:k/
© /plk/ (D) / plkk /.
60. Try
A /trl/ (B) /tral/
() /triz/ (D) /trae/.
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SECTION - III
LANGUAGE II
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

Which one of the following words is a noun ?

(A) Interesting (B) develop

(C) teacher (D) brave.

Fill in the appropriate determiner :

I have not got .vicisesoeiss money in my bank account.

(A)  any B a

(C) afew (D) few.

Supply the correct form of the verb ‘remember’ in the following sentence :
Innassiaanas your name.

(A) am remembering (B) remember

(C) was remembering (D)  have remember.

Pick out the correct verb form :

She was walking along the road when she ..........c.....ceeuee. him.
(A)  met (B) have met

(C) was meeting (D) meet.

Supply a modal which expresses ability :

AL o Them o speak three languages.

(A)  may (B) will

(€) must (D) can.

We must come back by six.

‘Must’ in the above sentence expresses

(A)  possibility (B) advice

(C) desire (D) necessity.

Complete the phrasal verb in the following sentence :

You may try hard to hide the truth, but one day the truth will come ............ ‘
(A) in (B) over

(C) out (D) at.
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68. Complete the phrasal verb in the following sentence :

People have been complaining about the prices going .................. everyday.
(A)  up (B)  through
(C) after (D) in.

69. Complete the phrasal verb in the following sentence :

Many parents were at the railway station to see .................. their children.
(A)  away (B at
(C) off (D)  after.
70. Which one of the following phrasal verbs means ‘to remove' ?
(A) puton (B) take off
(C) putup (D)  get off.

71. We decided to put off our visit to Kashmir till October.
‘Put off in the above sentence means
(A)  arrange (B) plan
(C) reject (D) postpone.
72. There isn't enough money, so we must cut down expenses.
‘Cut down' in the above sentence means
(A) reduce in size or amount (B) stop
(C) increase in size or amount (D)  revise.
73. They are repairing the bridge.
The passive voice of the above sentence will be
(A)  The bridge is repaired (B)  The bridge are being repaired
(C) The bridge is being repaired (D)  The bridge has being repaired.
74. Pick out the correct passive voice of the following sentence :
They carried the injured player off the field.
(A)  Off the field was carried by the injured player
(B) The injured player was carried off the field by them
(C) The injured player be carried off the field
(D) The injured player has been carried off the field.
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75. He said, "Kavita, when is the next train ?"
The above sentence in Reported Speech will be
(A) He asked Kavita that when the next train was
(B) He asked to Kavita when was the next train
(C) He asked to Kavita that when is the next train
(D) He asked Kavita when the next train was.
76. The doctor said to me, “Do not swim in cold water."
In Reported Speech the above sentence will be
The doctor advised me
(A) do not swim in cold water (B) that do not swim in cold water
(C) not to swim in cold water (D) to not swim in cold water.
77. Pick out the sentence which has the same meaning as the following sentence :
No person in my village is as wise as my uncle.
(A) My uncle is the wisest person in my village.
(B) There is no wise person In my village.
(C) My uncle is the only wise person in my village.
(D) My uncle is wiser than some people in my village.
78. Pick out the appropriate question tag for the following statement :
You didn't see him.

(A) didn'tyou ? (B) did you ?

(C) isn'tit? (D) aren'tyou?
79. The word ‘advocate’ is similar in meaning to

(A) adviser (B) scholar

(C) supporter (D)  lawyer.
80. Which one of the following words is similar in meaning to the word ‘precise’ ?

(A)  brief (B) exact

(C) precious (D)  expensive.
81. The opposite of the word ‘familiar’ is

(A) related to a family (B)  personal

(C) strange (D)  unfriendly.
82. The word ‘creative’ is opposite in meaning to

(A)  destructive (B)  positive

(C) artistic {D) pessimistic.
83. Pick out the word which has been correctly spelt :

(A)  obidient (B) obediant

(C) obedient (D)  obidiant.
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Which one of the following words has been correctly spelt ?

(A)  gramar (B)  grammar

(C) grammer (D)  gramer.

Note : Read the following stanza and answer Question Nos. 85 and 86 :
“Silence hath bound thee with her fatal chain ;
Neglected, mute and desolate art thou,

Like ruined monument on desert plain :

May be by mortal wakened once again,
Harp of my country, let me strike the strain !"

The line ‘Like ruined monument on desert plain’ is an example of

(A)  simile (B) metaphor

(C) elegy (D)  hyperbole.

Which one of the following phrases gives us an example of alliteration ?
(A)  harp of my country (B) strike the strain

(C)  with her fatal chain (D)  desolate art thou.

A sonnet usually contains
(A)  eight lines (B) six lines
(C) twelve lines (D)  fourteen lines.

Direction for Question Nos. 88-90 : Pick out the correct phonetic transcription of the
following words :

Like

@A)  /lalk/ B)  /lk/
C /laik/ (D) /lulk/
Tree

A /trl/ (B) /tre/
(C) /triz/ (D) /trel/
These

A /dls/ (B) /0i:z/
(G /olz/ (D)  /oi:z/.
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() T, @H B =, =

(C) ¥, wfa (D) ¥, &9 |
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(@) fowa s B fawa =i

(C) fowd wei (D) fawd F@% |
69. fawa s won gt el ?

w2 B 5

© 3 D) 4
70. ‘g w3t ofeRy fawa am

() fawa s B fawd s

(€ fowa aqw (D) fawd T |
71. ‘@&, ‘i, ot wfee R s fawrg enfef:

() THR g (B) wHR TR

(©) R e (D) HR 9 |
72. TEIEETH W W AT AR

() e feay (B) g B

() e faao (D) s foao |
73. ‘S’ AIUE Ta W A @ gae o faa | fed ofefel o iR o

(@A) R Efad (B) R HaEd

(C) wHR HqaEd (D) =R Hge |
74. ‘IR wifs @ w0 Tm T 1 fed e’ €t snfefr

(A) e (B) HId HAEA

(& L (D) HsA HihY |
75. '‘Hoga' St W e

@ FfEE (B) v Wy

() et (D) HETHA |
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a1’ S fag e
@ afed B wfew
€ wE (D) fe=t
‘Bify’ St areg afeg i)
A 192 B W3
© @ifFd (D) W |
@ F (B) HEHaw
€ g3 (D) g% |
ot et o ‘eefef = A € wdter S QR e A 9@ 39 @ wge s
@ o= am B) o= qoE
© for==drs (D) for=a am |
TR @ S HAT R
@ T B) =TS
(C) TwrEg (D) 49|
‘fedt verm € qErEw’ w9 S wEEE o
@& o Hidiena it (B) HEHIE HEA
(C) o Tame HEM (D)  Efo HTEAY el |
‘qF wEm S frarg e
(&) Hre it T e (B) W AR S
(C) &1 W FTY D) o fam F2fe |
e e sreamitsl St fadft werwt € weaemet @ #fR T @i faaa fafeme o 2
@A) T @) ot st st ada
(€) fHsft =TT (D) et gemEw € v |
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84. '‘wgre fagmg W wre sufefy" w4t o

W B) S

(C) &R T (D) S S WS |
85. ‘fo@d wfg wene e fFarian 7 9 e wR F Fow o 7% e X w9 F w5y 6 |

A TEE T (B) =t

(€ Te9d (D) YIE =g TdE |
86. ‘vl farft ' foFam S @ MR

A) =l @ firEamft B)  Elo TeRY GaHH

(C) Efo Hidienel Saamoit (D) =fo Wty Afeer |
87. ‘wie W @l wfe<t suwm ¥ fofaag o ?

@ F= B fa=Eied

) TomEst (D) @t |
88. ‘Tma’ @ St WHl AW

U E (B) V= FW

© wR D)  Fsf
89. faufiar St 3 =t FHeetar avivi @ o ?

@) AR (B) SR

(€ wiIER (D) J=E |
90. ‘mMi mg’ St WA e

() S (B)  IrEH

€ =R (D) TR |
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¥E : I

FH : I

Unret

fen ¥z f&o 9% 30 yms va1
A YRG Agdl I6|

g fag gifos a5t 7t 37
A) v fEE (B) =S f&&
(C) wfemeg f& (D) faz=t f&
Unrdt 3T St €31 gatnt faagor a7
(A) 3EE®EUT (B) 3®®d
(C) 3EWE (D) 3EEH
89 wuz fagt v @995 aws AR A0 o & 499 oo fead, By § ot faor e 37
(A) AT B) fenivs
(C) winaTha D) €3
Urrdt @it ot gatni faagmt a7
(A) FTETW (B) aywa
(C) TuaTw (D) THaAA

T9% ¢ gese AR 7 feusd fau3 muel v gu gewe &7

(A)  fafonr w3 s (B) &'® w3 feRmE

(C) feRme 2 fafonr (D) &, fedrs w3 fafonr
fagaT maw nEizg &5 wfenr 37

(A)  yuz (B) udeH

(C) g D) Y&

fao? mae &% fugse aat sfam?

(A)  AHAH (B) My=S

(C) weug (D) =3
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J5 fafimrt f&F° fags rae ' o aeedt &t 39

(A) fauzr (B) gwaw=e

(€ yEE® (D) Ay

For' mue v fegul mue faoar 37

(A)  TEF (B)  fAar

©c =€ (D) Her

J5 faa Tt &9 fgusr maw gg-wedt 37

(8) A9 ¥9 g Har aoel () HY €% ¥ Har &9 |

(A) H9 (B) =@

(C) Har (D) &t aat
frot e Y 3 ufost w7 8 aww § ot faar e 7

(a) fugst (B) @t

(C) wH fAe (D)  FEt &t FS
nftmrua ugr fear 31 - fer oa féw wifomua’ fagar ate 37

(A) TR (B) uH &=

(C) feds Tva st (D) 3= THa &
frod mae uFste & 9= w3 Bt ot g Ufenr @ w2, Bg § fager uFste faar Aer 37
(A)  fameroa (B) HAdueww
(C) ymaeex (D) fomgesa
13 &5t faat ¥z wolet 3 - fen o= e faoa feRme <afanr famr 37
(4)  Afemrerex B) ufewzewa
(C) fomeerea (D) T

frm mee 3 fan fafewr @ 9z o a1, 3fte 7 yaw o uz' 8@, 8 § faom fafonr feine faor
Arer 37
(A) TIeETVR (B) AEBEwR

(C) aweTex (D) yage=y
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76. ofel faur fawr s=t fife 31 ya-ug vz 3 few awer 31 - fem v féu femifa g fam o @
yare? B¥ §93 gaet 37
(A) (B) it
(C) dewat (D) y#Amr
77. wiFt IARES § funrg 9@ If) feg ew
(A) T Twg I B) feriewa §
(C) &7 ewa 3 (D) yms Tv 3
78. 393 uyn 3 fa €n 3 fgae Av i3 fonr 31 - e fan fami o v 37
(A) FUEs (B) fumfes
(C) Fgas (D) ferm
79. w3t foofen afae ' 31 - fen T v v At faoz femany g Tafanr famr 39
(A) aH (B) faet
(C) Yo amr (D)  §e HaA
80. e fai &t adt J¥t aiw § g-u-7 fafmr 7R 3 fag3 fis &t w3 g&t &7
(A) U8 am (B) &
(C) fd<t e (D) &€t &dt
81. me Il fowast iz @ 33 Jur 3, 8n Afedt § wonBz wel faua yoee dae 7
(A) TEI 2 HIR Y= (B) u9 fasw g7
(C) TaHt g 3= (D) B g A
82. 7T aEl gH § go€r 3, 3t @R Afut § venBz wE fauzr yoee gt 37
(A) ¥e °2 I (B) <v ulgz
(C) veme (D) <my & wiar feT Aze
83. ‘At ¥ Wy aufes W wwE aw TSI wer 37
() fort fedu 2 yare? mEt
(B) fai T3 wrerit § 8R 2 forgadt gaon wel
(C) @&H a9 & A8z oB fonast met
(D) ww ¥ adtEt wet
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‘R §B 9" wrire AEdt fagaT wow gawt 37

(A) T HEa @ el ST da9 FEE! I w3 HBA § U & Ba
(B) oE g@ AR w3 Har Ha®

(C) @E He AR w3 FeT Her °F

(D) faA = dew faas 7 w2 e Far &

(A)  mw T e RYSE (B) iy st e fEar de

(C) 3T muE (D)  wmy T feRAUTST
6ud yon 3 Foard 8l fave ARt faoar AEuat mee fafumr mier 32

(A) RS furd B)  Hhs

(C) wfsarawa (D)  ywal

(A) fust#t § yrsla fusr At (B) @3 39 § Wawar d9
(€) fiss g s (D)  fait AEat veAT § Hhw H

WEY wiee aud @ Iesr 1T Ot =i 98t 3 w3 8w wEa 3 9 fen AR i w83 u 92 Us) few
FERT a4, W, GO, A3t T g 23w 31 qEd @ A5 wifls WSy SaEtat Bt nuE faar
fer aua o FeeT widls ANt AY @ WER SHHTT &% SRST Yal q9 @ 8¢ SRt § TaysEmi e
293 99 U6 IF €3 OF 3 BaSs9 v Hier ufodt #3 Ia)

uias 1Y wet JIo fafimit (&9 faoar fredy o=t 37

(A) fefomimaa 33at (B) wum € g
(C) <3 om v faeea (D) ®IIIT T HEeT
‘Hier ufgas’ 2 fagz »ow a9 967

(A)  mAEE § AR (B) &t ufgsar

(C) w9 FI& (D) ®a fAe feaw
‘Tl B 3 & vew 967

(A) A= 33 (B) frAu-uudt smes
(C) i 3t o (D) vadt &iEt g
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(CTLTRED 1 |
spar 21l

1L visHi §@ 30 usa 8,

€35 Uatall yalor aiual §2(%2ua 8.

olAell URBe aizlld 61 2l 65 Uellatl Yaior 241.

MRl Yot s s edd Sla 8. uven 1A v Bauil eua 8. dell Rau0t Hisal
AN ol did o 2ud. e wHeEi At Al scusol Bl agA dl Zecld aidl qae.
wig, 04, dag, Glad, alad, $2al ¥4 Ad i GURid dRe dRGell AWl AASGH, HetAUHIA
AUIEM, D Bletl A5 USIR il Nal HALL. Hot Uz A ciell Baadle 2012 usa 52 B.
Aefl Waet Aed 9f Aal 1Y Aa@ 52, dl Yao ANed 2Aestiua Ad] @uven § 53,

22512 ARzl Gl V. videll HLRicll Wad W2 22 2ddl Sl 8. Build dl el ¥ 284
stefl. Wwdl u2e cviet ofpll ouvej slat Aq AL CrRIURIe a8 M 8. ydvera 20212l dl 85 15
ojpud 2l Q1A B ; vidl A ANed AN 3 ydoon 6dl 3 adl dol uer eist ad AZ B. B Yoio]
allefupl Al ad stefl, al ydovarell aid 2f s sedl ? ydovousll aia 28al £ el il Yool
o Rar sAN. 2uuell Yedl Bazd e2cpii 28 8 decll v a8 8 AdA «ell. wads Bauil 2nd
S siel adi 28 8.

Hol UR 2ol (2512 ud 8 ?

(A)  vuardlall Bauett (B) 21Nl

(C) 2uuen gt adl aive Gauileu (D)  evoMoll 242Asll.
Waet ANed gf ?

(A) A6 a6l 2awt (B)  2iesR-20u2
(€ @EEa Gaui (D)  Miot-2AUMiel.

widl uzej cvuet ojpll cvej clat Adl 2w0e wAL 2 W2 sAl B ?

(A)  ocucwerdl Baua ogell var w2 (B)  atellell Baul oyl var w2
(C) 2ARet2l ARSI HI2 (D) yet:ovod Hi2.

ydevoral oled auel eudll (@R s2al AgA ?

(A) 2iesiRel (B) it voHell

(C)  ladl YoHell (D) o124 YeHall,
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(A)  2ArRk-cR20 2i51Rle(l (B)  ydweudl
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Stcaefl uepy ulsua of 5& &
(A) v fsd (B)  efs vilsa
(C) gailsd (D) 2fee ulsa.
“2adx ugla auet, 25 Hedl  si o 2 WGl wadldl 56 Rl veua 8 ?
(A) 2adx (B)  2uei€l
(€)  wpusl (D)  uza2.
“otdell wdl golodi dell aifloudhi ctell.”” Qeustni cuaaras uel 3ea 8 2
@) As B) A
(C) =t (D) AlR.
et aevisell g5Ai 21 avidioll Badl of 58 & 2
(a) 20flau (B)  zialszel
(€C) [=Auwel (D)  Ri=Awer.
“oull 2iooNui 26 U2 Wassa’ ulSdel el 9f euat ?
(A) vl 212i g 516 UEE 52 (B)  2quiell ueR wa«fdset uz 8
(C) AN A5 Q1A dl Agell @s1A 22 (D) §owdi 518 2uel 284 etell.
olldeuniell youaRle] 53§ As§ vadn ud 8 ?

(A  sau (B) axna

(C) afu (D)  oeaa.

N yd-efiet A ulBan e dl uB2n-Gaz 9f enat ?

A) yd (B) el

(C) Guae (D)  ulPax,

"ol 2Avuod Ad Aiet B [Qeuspiiell 9f aredl s ?
(A)  oE o yopel upudIS B (B)  S18 sopret upuldLS otefl
(C)  3ecus nopll vupuds 8 (D) 518 soprat BUBURLS otell.
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£8 il wvier aA ¥ 2iciy B ddl 2iciu Slell qzA & ?

(A) a1 24 5181 (B)  alvu &4 etid

(C) €&l d wmis (D) o2t e WseuY.
ollAdetitiell sl 210e M1 ud B ?

(A)  od (B) e

(C) susl (D)  ces2.

ofldativiell 52 well e ud 8 ?

(A) a. (B) (e
(C)  ua (D) .
wej : 2l dl ua :?

(A) dal (B) sl
(Gt (D)  ope.

Al Al s2ai o ad Hel 8. Afid a2l s2di el ad sl 8. G25iet 2l5d s2di 25 a etiell
& ueL o2t s2di ar ai Hl2l & dl 2ilell g slet ?

(A) ellsa B) 21fa
(C) et221 (D) 251t

slelusii A5 @lsad odiadi At 5624, “Hit werRt Wil oldeen cude Mdatel sl A5 Y
8. dl i et Afuell 2f 220 eu2t ?

(A) ol (B) oud
(C) weu (D)  siS1.

N silesiel vendl, vendld oudl, cudlad e viad sed Hed s&aw, dl werRt 2ofl uz 2d ?

(A) sl (B) uaudl

(C) oudl (D)  wed.
“Qwiacrd dl dd 2 s€lA ¥ Uls i A 3 ot 2uLic sler B ?
(A) ity (B) i

(C) easie (D) o216 ndau.

¢S5l aldial wdl tadl sieell usie s2Al & ?
(A) 2ide (B) anda
(C) arell (D)  vissil.
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“spiR syl ad o M3 ulkaMi ¢f eudd & ?
(A) s (B) ®©¢
(C) 20uAn (D)  s2.
ulseeni weg] 2¥ar saRlell Alss2u usieell a0saella of sélej ?
(A) s (B) ®¢
(C) 2wvuAn (D) s,
“ad %2l § o [ wied]l”” a oitt dudl RRuR veual
(A)  udqg 2qu d md «al (B) dl 21d waal €l
(C) [rnsoal A A50cuell udl 8 (D) A Ad vad.
vldd €2elld 515 dd aius] 2@t 29 sdtell [@ARre Adlal ¢f sdary ?
(A) [Qael@qare (B) [(eioig
(C) udac (D)  212.
ollAdell uilsad suaR 87 el 90 sHisou usllett vaior .
“ol20l v, sdlacl g Al 22sui,
€15l &d 2ylaus ol Gscai a4 391”7
st o [QuRl sAui 52 & 7
(A) i (B)  vdemi
(C) owiell eudilct (D) M.
llistetl Hopi et Q121 2ud 8 ?
(A)  odsinel Bels (B) ol scuotiett
(C) cdal 240l (D) voM 2Metl,
GuRlsd Ui “‘de1eidd”’ ouold HI2 20 210 quill 8 ?
(A) sdélacil (B) €si
(C) yfaus (D) Gseui.
st sl dAla (R viag ma & ?
(A) s (B)  aoului

(C) vuedwi (D)  Elaswi.




[E 67 L-2

SECTION -~ IV / @UE - IV
In this Section, there are 2 sub-sections i.e. IV(a) Mathematics and Science and
IV(b) Social Studies. Both the sub-sections consist of 60 Multiple Choice Questions each.
The candidate has to choose either IV(a) Mathematics and Science or IV(b) Social Studies
as selected in the Online Application Form and answer all the 60 questions.

78 @vg 1§ 9 sy@Eve A4fq Iv(a) ioTa v faem v 1v(b) arfae remaa € | i sTaEvel & TS
Y 60 sgfaweda g & |
witenef F1 1v(a) TOTA AU fawT stgET IV(b) ATITE teaas forae 99 SHERA e vE H
U | o wF Iv@ve &l g ¢ @ it 60 WA W IW AW E |
SECTION - IV (a) / @US - IV (a)

MATHEMATICS AND SCIENCE / ifora @ fagm
There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions.

W aEvE § 5o 609 § | faa enafddi 3 3q faug &1 99 faar & 5% @t woa e afadd €
2
91. 'I‘heslmpllﬁedformsof222 .(22)22and(222)2are

(A) 216 44 162 (B) 44 28 82
€ 26 28 82 (D) 162,44 2185
2
it 2227, (22)2%qm (222 )’ wmwa wu d
w 216’44' 162 [B) 44.28.82
C 2392882 (D) 162,44 218
92. The factors of expression [x2—2xy+y2)-22are
(A (x+y-z)(x+y+2z) (B) (x-y-z)(x-y+2)
€ (x-y-z)l(x+y+2z) M (x-y-z)(x-y-2).
o (x2 - 2xy + y2 ) - 22% TorEve ¥
(A) (x+y-z)(x+y+2) (B) (x-y-z)(x-y+2)
C) (x-y-z)lx+y+2z) (D) (x-y-z)(x-y-2).
93. If ax? + bx+ ¢ =0 is an identity in x, then

—-bz\lbz—t}ac _ __-_b
(A) X = %2a (B) c=0 x=0, x= =
© c=0x="2, x=2 D) a=0.b=0,c=0.
afe ax? + bx+ c =0, x¥ UF wdafugF: ¢, @

= \} 2 _ e
Al x = b Zba dae (B) c=0, x=0, x= —ab'
(C) il e D a=0 b=0,c=0.

94. The numerator o?a fractjgn is less by 2 than its denominator. If we subtract 2 from
the numerator and add 2 to the denominator, then the new fraction obtained is % :
What is the original fraction ?
w5 ® 3 © 2 RS
& i & foage oig, A 2F0 ¢ 1ot s oim H /2 92 fomr 9@ ik # 2 i faor s
@ 39 TR W T4 fim %%, @ wrfey fim

14 3 1
A 9 (B) 5 (@) (D) 3 -

NI [ PT.O.
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If we divide x*-y* by x- y, then the quotient and remainder are respectively
A x3+x2y+xy?2+y3, 0 B x3-x2y+xy?2+y?, 0

© x3+y3 x%2y+xy? D) x3-y3 x2y-xy2

g x4 - y* & x- yq 9T A TE IR SvEd FEE: EH

A x®+x2y+xy?2+y3, 0 B) x3-x%2y+xy?2+y?, 0

© x3+y3 x?2y+xy? D) x3-y3, x2y-xy2

If the arithmetic mean and geometric mean of two numbers a and b are equal then
(A a+b=ab B a+b=vVab

© ~Ya+b = ab (D) a=b.

afe =l & demsti adq b wu=R A1 q° UiR WA e E,

A\ a+b=ab B a+b=vVab

© ~a+b = ab (D) a=h.

What will be the compound interest of Rs. 48,000, at the rate of 10% for a period of

2 years, if the rate of interest is calculated on the basis of six months ?

(A) Rs. 6,566 (B) Rs. 7,566

(C) Rs. 8,566 (D) Rs. 7,577.

48,000 To F1 10% #1 4, 1 jad &1 Tehgfe = 0 €, A% = #: W 9: 7ER F feam
q T § i ?

(A) 6,566 %o (B) 7,566 To

(C) 8.,566% (D) 7,577 %0 |

A shopkeeper marks the price of an article of original cost Rs. 100, after increasing it

by 10%. He then sells it by giving a discount of 10% to the customer. The price at
which he sold the article is

(A) Rs. 100 (B) Rs. 101

(C) Rs. 99 (D)  None of these.

U gHER o aw F1 qoy, foraes amafas ge8 100 %o &, 10% F@ma sifed wxa € | 58
3Y 9% T 10% HHYA SFHF UEH ! oa=d] ¢, A 361 96 a5 had To § a=ff ?
(A) 100%Fo (B) 101 %o

(C) 99%o D) T H B T |

Which of the following statements is incorrect ?

(A)  If the four quantities a, b, ¢, d are proportional then ax d = b x c.
(B) If a b, c, d are proportional then ac = bd

(C) The inverse proportion of proportion a: bisb: a

(D) If three quantities a, b, c are in geometric progression, then b2 = ac.

=1 & 4 -9 %97 e & 2
() afgufeEl a, b, ¢, dFIAIA &, S axd=bxc
B) 3fE a. b, c, dFAFYET €, @ ac = bd

(C) FHHYG a: b FHAIT % b: a
(D) 3fg ufvmEl a, b, ¢ TR 40t H ¥, @ b2 = ac.
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The number of members of an institution is 2500. If the number of members in first
year increases by 10% and in the second year decreases by 10%, then after two years
what is the increase or decrease in the number of members ?

(A) Neither decrease nor increase (B) Increase of 25 members

(C) Decrease of 25 members (D)  None of these.

et ween § wewd F1 g 2500 % | afE 9% ¥ vew a4 # 10% wgdl € aw g ad § 10%
2 WAt §, @ < a6l ¥ ag gewl Hi " § e gfe @ w5 a2

@& gl FH B) 25%HE % g

(C)  25%cE =t FHl (D) 37 | &3 T |

Two cars X and Y are moving from a point A to the point B which are 50 metres apart.

If the speed of X is 10 m/sec and that of Y is 25 m/sec then the time taken by them
to reach to the point B are respectively

A) 2 sec, 5 sec (B) 500 sec, 750 sec

(C) b5 sec, 2 sec (D) é sec, % sec.

3 fagali Aqw Bfwd @ %1 gt 50 &, @ &’ Xaw y=adt € 13k x=t wfq 10 @A
A YH U 25 A T, W IT A F B AY TS B T TEE § oA aTen §Ha FE: w0

(A) 29 53 (B) 5008, 7508
€ 59 28 (D) %é, % q |

Divide Rs. 13,260 between Ram and Shyam in such a way that if Ram gets Rs. 11
then Shyam gets Rs. 15. Then Ram and Shyam will get respectively

(A) Rs. 7,650, Rs. 5,610 (B) Rs. 5,610, Rs. 7,650
(C) Rs. 5,100, Rs. 8,160 (D) Rs. 8,160, Rs. 5,100.

13.260 To @I W 3K v ¥ 379 wHR fawfaa =X fF afe qa =1 11 %o fodt @t vam =1 15%0 |
T TR ¥ fawsH § 1w iR e &1 waw: fae

(A) 7,650%0, 5,610%F0 (B) 5.610%e, 7,650 %F0

(C) 5.100%0, 8,160%e (D) 8,160%Fe, 5,100%0 |

Which of the following is incorrect ?

(A) The point of intersection of medians of a triangle is called centroid

(B) The point of intersection of perpendiculars drawn from the vertices of a triangle
on the opposite sides is called orthocentre

(C) All the three bisectors of angles of a triangle intersect at one point

(D) Median of a side of a triangle is perpendicular bisector of that side.

= F | F5-1 FYE g ¥ ?

o) faedt fyw =1 mfvgemet &1 sfrse fag F= Feam @

@) e fase & oid & 9 el g W TR T o o gires fag o F Feen ¢

(€ foret fogw & i< ol &% wmfgwres o fag W fer €

(D) ol faqm & yon #1 wifeget, 39 o W @ gt & ud 39 wafgwifa w7 €

NERR [ PTO.
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104. Which of the following is not the condition of congruency of two triangles ?
(A)  The three sides of a triangle are equal to the three sides of the other triangle
respectively.
(B) Two sides and the angle included between those sides of one triangle are equal
to two sides and the angle included between them of the other triangle.
(C) Two angles and the side between them of one triangle are equal to two angles
and the side between them of the other triangle correspondingly.
(D) All the three angles of one triangle are equal to the three angles of other triangle.
= & | - FoA 3 el F1 watraaa & fog e 7@ & 2
@A) T B F1 A et s gEt e w5t a0 genetl & e g
®) @ﬁ%ama o wd I W i, g e A ol T I e W
e
© uF B F A Fv 3 9% 99 F 4o, g e F D w39 @ FH oo F
e B
(D) U Fase F A Fo, g e F A9 F ol F sk 7
105. If each angle of a quadrilateral is less than 180°, then it is called
(A) concave (B) convex
(C) parallelogram (D) trapezium.
st =gds =1 v &0 Afz 180° ¥ &9 ), @ IW FgYS # Fed §
(A) HAqdd (B) EX|
(€ TR D) FHEYS |
106. Alternate angles in the given figure, where two parallel lines are cut by a transversal,
are
12
3/ 4
Uk
7 / 8
A (1,8)and (2,7) B (1,2)and (7, 8)
C (2,6)and(1,5) M (1,5)and (7, 3).

e gu faa 9 3 wwidt T@nsd #1 Fed w fods T F 9y 99 g U Hv E

A
(&)

1/ 2
3/ 4
R
7/8
(1,8) 741 (2, 7) B (1,2)aw (7, 8)
(2,6) a@ (1,5) (D) (1,5)dW (7, 3).
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107. In the following figure, the value of angle o is ( here O is the centre of the circle )

(A)
(o)}

D

[

=y
60°
A x / B
60° (B) 20°
30° (D) 40°,

fAgufa i s qaH AAE (T OTIFFH T )

(A)
()

D

£\

A —
60° (B  20°

30° (D)  40°.

108. Which of the following statements is incorrect ?

A)

(B)

©

(D)

The angle subtended by a chord of a circle at the centre is equal to the angle
subtended by the chord at any point of the circumference of a circle.

The lengths of the chords situated at equal distance from the centre of a circle
are equal.

The angles subtended by a chord at different points on the circumference of a
circle are equal.

The perpendicular drawn from the centre of a circle on a chord, bisects the
chord.

A d IR FY AT € ?

A

(B)
(©)
(D)

et g9 § wE ftar g s W T T v 3§ S g oy F e o= fag W
TAA T H F GO B ®

et gu A F= ¥ auer g W fom st 1 o aua g g
farelt ga | uF e gry uRkfu & sver- s fagal W EAE T F SR € €
et g9 ¥ F5 F UF Sa W ™ A S F wAigatad s o)

TR [ PTO.
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109.

110.

111,

7 [&]
Given UZ = 5 cm, XU = 4 cm, are sides of the rectangle XYZU.
The area of parallelogram KLZU is

X K Y i

U z
(A) 20 cm (B) 10 sq.cm
() 20vV2 cm (D) 20 sqg.cm.
HFd XYZUS! &1 UZ = 534t 991 XU = 4 9 ¢,
@ TR wqdS KLZU S 8% ©

X K Y L

U z
(A 209 B) 105 F4
© 20V2@H (D) 209 &4t |
Hero's formula for the area of a triangle with sides of lengths a, b, cand s =_€_1__+_Ql?_:t_9 '
is
(A) abe B Vs(s-a)ls-b)l(s-c)
© VE-a)(s-b)(s-c) (D) %xBasexHeight.
mﬁﬁ#m%mmﬁmaacﬁ,ﬁﬂmv%(ﬂﬁs=%’m)
(A) abc B) Vs(s-a)(s-b)(s-c)
© VGs-a)(s-b)(s-¢c) (D) 5 x 3R x S |

A triangle and a parallelogram have the same base and the same area. If the sides of
the triangle are 26 cm, 28 cm and 30 cm and parallelogram stands on the base
28 cm, the height of the parallelogram is

(A 12 cm ; (B) 16 cm

(C) 14 cm (D) 6 cm.

& fave oi gumR =Sge 1 SR T fewa §EE € 1 afe e @1 end s 26 99,
28 ¥ qu 30 ¥t ¥ siv FArR WqdS w1 MUK 28 ¥R Tl oo &, @ WARR SgeS w1 SR
&It

(A 1299 B 1684

© 14%H (D) 6@ |

(LT
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114.
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In general a book is a solid figure, known as
(A)  parallelogram (B) cube
(C) rectangle (D)  cuboid.
YR U faara uw Srg agfa # fome am &
(A)  FURR 9g4S (B) =4
(C) Fa (D) =19 |
Ram wants to build up a solid cube of side 15 cm. How many cubical blocks of side
5 cm will be required for it ?
@A 9 (B) 18
c 27 (D) 30.

U9 U 39 uA 941 atedl @ faget Jon 15 9t 8 | 39 A 58 o e e fRe R
ZHS FHI AEYIRA B 2

w 9 (B) 18

) 27 (D)  30.

The volume and curved surface area of a right circular cylinder are
(A) 2nrh, nr?h B) nr?h, 2nrh

(C) % nr2h, 2nrh (D) nwr2h, nrh

UH GHEIVIG TG FoH T EGH T T TS F ATFA ¢

(A) 2nrh, nir2h B) nwr2h, 2nrh

(© Lmr2h, 2rrh D) =wr2h, nrh

3
The value of n is given as follows :
3-14159265358979323846264307
The most and the least frequently occurring digits after the decimal point are

respectively

w 3,7 B 7,3
) 3,0 (D) 4, 1.
n® 7 A fem gan #

3-14159265358979323846264307
TYNTE & ATG Fad g 3R gFH FY 9N A 9 FF FwA: T
w 3,7 (B) F AT
© 3,0 D) 4, 1.
The graphical representation of data in which data is shown by rectangles drawn on
X-axis as base, which are of equal width and the space left between any two
rectangles is same, is called
(A)  Histogram (B) Frequency polygon
(C) Bar graph (D)  None of these.
Al H wEra g yeiifa +6 #t 9g fafy ool siwg 39 a6l g weivfa 3 om #
o amuR X-31& &1, s 3R sTeR dier & & a9 < aEEl ¥ s A S T W s
&, g ¢
(A mEatad ( fewmm ) (B) aHaERH WY
(C) WY wH (D) & | =g T |

UL T [ PT.O.
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117. The values of marks [\H\I and W are

A 5,5 (B) 5, not defined
(C) not defined, 5 (D) -3 SR ¥
LN

(A 5.5 (B) 5, uftsfua =¥ &
() euRwifya, 5 (D) 3. 3.

118, If the data to be represented graphically on Y-axis are in lacs as 15, 21, 2.7 and 3-3
then which of the following is a suitable scale of choice for one unit ?
(A)  Rs. 50 thousands (B) Rs. 30 thousands
(C) Rs. 40 thousands (D)  Rs. 60 thousands.

fz v\ W WEE §9 ¥ vehfd fFd 9@ 9t o e A 1.5, 21, 2.7 991 3.3%, @
T F) wefia F0 F fAQ Ivgw W (S ) B @ Em 2

(A) 50TER Te (B) 30 TR ¥To (C) 40TER Te (D) 60TSW To |
119. In the given circular graph, the decreasing order of the expenditure incurred on
various heads is

Food

Clothes - 70° \

Savings

Education

House Rent
(A) Education, Savings, Clothes, House rent, Food
(B) Food, House rent, Clothes, Savings, Education
(C) Food, House rent, Education, Clothes, Savings
(D) House rent, Food, Education, Clothes, Savings.

forer g fam # fafbm wel W fran oI aren =7, sradel ®A A @

(@A) foen, 999, S92, wHH O, @ (B) @M, "HH T, 92, a=a, e
(© @, " T, fuen, w92, F=@ (D) W& fFw, @, foen, w98, &=9 |

(LT
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120. The lengths of 35 leaves of a plant are measured correct to one millimetre, and the

121.

122.

123.

obtained data is represented in the following table :

Length ( in mm ) Number of leaves

127 - 135 5

136 - 144 9

145 - 153 12

154 - 162 5

163 - 171 4
Is it correct to conclude that maximum number of leaves are
(A) 153 mm long (B) 145 mm long
(C) 149 mm long (D) none of these.
fordt i =t 35 ufadl &t drad F Aiwe uw ot o 9Et w9 9 fro afor § € .

g ( fft & ) ufvEt st dEr

127 - 135 5

136 - 144 9

145 - 153 12

154 - 162 5

163 - 171 4
1 9% e 9 ¢ foF sifeapivma: il €
@A) 153 Tt awit (B) 145 ot =t
© 149 fsft it (D) o™ @ FE T |
In a typical plant cell the position of nucleus is
(A) Central (B) Peripheral
(C) Basal (D) anywhere.
T Wl IRy i # Few it feufa i R
A FEE B) ufeta
) i (D) e ot |
Which of the following cell organelles is known as powerhouse of the cell ?
(A)  Nucleus (B) Nucleolus
(C) Golgi body (D)  Mitochondria.
e 4 QA frm =ifem &1 S 1 wfeye e s & 2
A FEE B) Hfz
() TiesH w4 (D) wrESfEar |
The longest stage of mitosis is
(A)  Prophase (B) Metaphase
(C) Anaphase (D) Telophase.
Tt fasee § gad et yaeen ¥
(A WES (B) HeTHW
© TR (D) FEES |

[P.T0O:
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124. Viral disease is

(A)  Polio (B) Plague
{C) Cholera (D)  Typhoid.
g Wit I &
(@) iferEr (B) wm
(€ e (D) TARES |
125. Which of the following deficiencies in food causes night-blindness disease ?
(A) Protein (B) Fats
(C) Vitamin A (D) Vitamin C.
o § f F @ foreat 0t @ Wit Imdm € 2
@ WA B F§
€ faafgm A o) faafim C.
126. The system affected by AIDS disease is
(A)  Digestive system (B) Respiratory system
(C) Central nervous system (D) Immune system.
wgd St ¥ wwifad &9 aen 9
(A) 9rEH A (B) Eqgq A
© F=ra af= o (D) wiwen &= |

127. “To every action there is always an opposite and equal reaction.”
The statement is known as

(A) Newton's first law (B) Newton's second law
(C) Newton's third law (D) none of these,.
"y o & wea fagda wd ww v wfafwean o & 1 39 YA ) wed €
@A) =A F wew frem B) =gzA = fgdg fFam
(© A 1 g Fam (D) T | FE T
128. The rate of doing work is known as
(A) Force (B) Motion
(C) Power (D)  Energy.
FE FE B R Fead ©
@ == B Tfd
© e (D) S |
129. Which method of heat transmission does not require any medium ?
(A) Radiation (B) Convection
(C) Conduction (D)  Diffusion.
T G0 i -t fafy § a5t smavawa T8 e ¥ 2
(a) fafEo (B) Heed
() =rEH (D) famRm |
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130. With the increase of pressure, the boiling point of water

(A)  increases (B) decreases

(C)  remains unchanged (D)  none of these.

T g & WY 9 w1 FAgTiw

(A @ B) = E

(€ emRafda wa & (D) T | T |
131. Property of sublimation is found in

(A)  sodium chloride (B) calcium chloride

(C) ammonium chloride (D)  magnesium chloride.

I 1 O 9IE AR

(A wifeam FEe § B) Ffewmm Fine §

(€ fm Femge o (D)  Hriifergw weivge §
132. Heat required to increase 1° Celsius temperature of one kilogram water is

(A) 1 calorie (B) 10 calorie

(C) 100 calorie (D) 1000 calorie.

T forem w1 w feit Afeaa w9 aen ¥ fad savas e At €

(&) 1FaRt B) 10 Fard

(C) 100 Far (D) 1000 Fart |
133. Image formed by a convex spherical lens is

(A) imaginary and erect (B) real and erect

(C) imaginary and inverted (D)  real and inverted.

T I et g9 @ whafera o &

(A) S TE i (B) arsifaE® &

(C) vt TE Iw (D) Srafe® & I |
134. For an incident ray of light, if mirror is rotated by an angle 6, then reflected ray will

rotate by an angle

A o (B) 20

(C) 90° (D)  0°.

T 3afid wehr fRRor & ferg, afz i i o w1 @y e we @ wafda o w1 gee @
g

A o (B) 26
(C) 90° (D) 0°.
135. A patient of hypermetropia is given spectacles of
(A)  lens of zero capacity (B) compound lens
(C) convex lens (D)  concave lens.
e A % wiw w) = fea e &
(A) A &EA F A B fofgaa =
(C) 3T o (D) 37Eae o |

NIRRT | PT.O.
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136.

137.

138.

139.

140.

141,
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Frequency of ultrasound is

(A) <20 Hz (B) > 20 Hz and < 20,000 Hz
(C) <20 Hz and > 20,000 Hz (D) > 20,000 Hz.

EITHISUE i gha et &

(A) <20 Hz (B) > 20 Hz 991 < 20,000 Hz
(C) <20 HzdY9l > 20,000 Hz (D) > 20,000 Hz.

Pitch of sound depends on

(A)  frequency (B) wavelength

(C) velocity (D)  intensity.

w3t &1 ar fAsft e #

@& smgfew (B) RS W

© 3w (D) e W

The number of magnetic lines of force passing through a given area is known as
(A)  Magnetic induction (B) Magnetic intensity

(C) Magnetic flux (D)  Magnetic moment.

fed T &3 |/ TR 9 e g9 T @ §en weand &

(&) g T B) T e

(C) FEha T (D) =& I |

A bulb ( 100 W, 200 V) is connected to a voltage of 160 V. The power dissipation is
(A) 64W (B) 100 W

) 32w (D) 160 W.

W aed (100 W, 200 V)& TF 160 V areeal & &y el 11 € | ufw g1 g
A) 64 W (B) 100 W

) 32WwW (D) 160 W.

One kilowatt-hour is unit of

(A) energy (B) power

(C) electric charge (D)  electric current.

% feirae-ver faas aEE ¢ ?

A Tl w B s =

(C) Fga &Y F (D) &e| a/ F |

If E ; be the peak e.m.f. of alternating current, then root mean square e.m.f. will be
W E, B En2

© E,/2 (D) E,/N2.

A yeamadt ur & R fae ao 9o E 7, @ &l W e o Jo qo g

& E, B) E N2

© E,/2 D E,/N2.
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Detergent is a complex salt of
(A)  Sodium (B) Calcium
(C) Carbon (D)  Magnesium,
ETSte Sifed waw §
(&) wifsam =@ B) FHfewrEm =
(C) & H (D) e = |
Device used to send text and pictures is
(A)  teleprinter (B) telex
() fax (D) none of these.
7 w@ aE # 99 ¥ fau fEm s @ svEm e s € 2
(&) T B) o
€ eE D) T FHE T
Which of the following mixtures of gases are used for welding of metals ?
(A) Oxygen + Hydrogen (B) Oxygen + Carbon dioxide
(C) Oxygen + Methane (D) Oxygen + Acetylene.
wigal i afeen ¥ fou frer 3 | o i & foaw 1 swdm fF s @ 2
(A) A + TR (B)  SiEdI + HEA SZAEFEES
(€ e + A (D) oA + wfafee |
Symbol of Tungsten element is
@ w B T
(C) Te (D) Tm.
A ed w1 AR §
@ w B T
(C) Te (D) Tm.
The gas responsible for global warming is
(A H, B) CO,
(C) NO, (D) SO,.
fova o ¥ fog forter 1 @
(A H, B CO,
(© NO, (D) SO,.

The atomic number of a nucleus is equal to

(A) number of electrons + number of neutrons
(B) number of neutrons + number of protons
(C) number of protons

(D) number of neutrons.

IR | PO,
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AW 1 WA FHIF qR T §
(A FerEREl @t e « =gE # "
(B) =i #1 g + WAl &t g
(C) WM =t Hem
(D) =g &t dE |
If acid burn occurs in the laboratory then wash with plenty of water and before

putting vaseline which of the following first-aids should be performed ?
(A}  Wash with sodium bicarbonate solution and again with water

(B) Wash with 1% acetic acid or lemon juice

(C) Clean with silver nitrate

(D) Put simple salt.

wErTITen # s | e W afyw ot @ 9 =il Sy wm @ g Prefafea § @ #R-w
wiafis STER FE =i ?

(A Hifggw agFEne B9d | T E S S
(B) 1% UHifesw ot @1 g & W/ O

(€ foear g2z | 9% FE0

(D) HIYROT THE A |

A place where small animals like termites, fly, earthworm etc. are cultured according
to their habits is called

(A)  Aquarium (B) Museum

(C) Terrarium (D) Forest.

a5 T el B o 9 — e, T, Fu S T WY ¥ AR T o ¥, 99 Fed
A)  E-Sfraeen (B) HuEEE

© fEw D) |

Which of the following statements is not correct ?

(A) Aims are directives in the educational programmes

(B) Aims could not be achieved only by school programmes
{C) Objectives can achieve by school programmes

(D) Aims and objectives are same.

freddsH-ar s g =i & ?

@A) Tz wrdwEn d vy fewn fdvm & o wa
(B) Faa faumedl FdFy 510 3899 W A€ L T
(©) vrw 32y faured %y g wra fFd =1 gea §
(D) IXYF A W 3G 9 € |

LU T
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SECTION - IV (b) / @US - IV (b)

SOCIAL STUDIES / Qmifwe 1eqa7

There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions.

W ES q T 609 T 1 T anafddl 4 g fara @1 v fen & 9 oot v won s

91. The main characteristic of the Indian society is

(A)  unity in diversity (B) illiteracy

(C) self-sufficiency (D)  regionalism.
9 e # wgE fardrean #

W sEd H TE B) sfaen

€ T EEEA (D) e |

92. Urbanization is the result of
(A)  educational development
(B) rural development
(C)  migration of population from villages to cities

(D)  agricultural development.
T wftomry #

(A Hfew fawma B v fawg #5
(€ 7 | T AR TESN IEES F (D) FY fawm

93. Regionalism is the main cause of

(A} poverty (B) social tensions
(C)  unemployment (D)  globalisation.
efTgarae e wru #

@A T (B) wmifes @ w0
© AT @ (D) vt & |

AT [ PT.O.
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94.

95.

96.

97.

98.
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Apart from subject contents, a social study teacher should have knowledge of

(A)  objectives of teaching (B) methods of teaching
(C) techniques of teaching (D)  all of these.

i 997 & s &t fTug-ag & 9Y-919 99 €1 Tfen

@) fom F s = | fagw fafiEi

(©) Tz a1 D) FHAER |

Which is not a cause of poverty in India ?

(A) Unemployment (B) Rapid growth of population
(C) Education (D) Large size of family.
yra o T & fau sE-w wRm AR § 2

@ FtsE B) e seEE i

(© foen (D) ¥4 WfER |

Which Harappan building was considered unique in its built in the world by Sir John
Marshall ?

(A) The Great Bath (B)  Granary

(C) Assembly Hall (D)  Fort Palace.

e W™ TR F W W Aefa 3 fava & & srya Ffo e 2
(A) FEq HAMR (B) ST

() | YA (D) 7 wEd |

“In India there is unity in diversity and diversity in unity.” Whose statement is this ?
(A) A. L. Basham (B) V. A. Smith

(C) Max Miller (D) Jawaharlal Nehru.
‘yra F wEhar ¥ sriar o swa ¥ wHar ¥ 1 9w A fFear € 2

(A)  To TeHo TN HI B o To fma W

(€ FE\ qEr H (D) eI TEE |
From which Indus site the evidence of ‘Fire pit' s found ?

(A) Harappa (B) Mohenjodaro

(C) Lothal (D)  Kalibanga.

= o A frg 9 wa A o 3o’ & e e § 2

A wEH (B) HEASIES!

) wa (D) =reE
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99. What is the main source of information about Indo-Greek rulers ?

(A) Travellers’' account (B) Coins
(C) Buddhist literature (D)  Jain literature.
fe=-gmt sl & AR # T % Te Wi w2 d 2
VU ER O R in B fown
© @z ufes D) ¥ wifew |
100. Geeta is
(A) Veda (B) Independent Epic
(C) a part of Ramayana (D)  a part of Mahabharata.
e &
@ = B) T TEHH
(C) THEY & TF Y (D) HEHRAG &1 TH T |
101. The famous trade centre of Far West during the Gupta period was
(A} Vidisa (B) Purushpur
(C) Ahichhatra (D) Paithan.
T e A gt 9w § wfag e &= o
(a) fafzwm B) TR
© gz D) ¥ |
102. The National emblem of India has been taken from
(A)  the pillar of Sanchi (B) the pillar of Sarnath
(C)  the pillar of Allahabad (D)  the pillar of Lumbini.
YRd &1 WY fag faa ™ &
() Wi A B) WY @Y A
(C) FomEER W A (D) s T F

103. ‘People did not lock their houses.’
About which ruler has Fa-hien written this ?

(A} Ramgupta (B) Chandragupta I
(C) Chandragupta Vikramaditya (D)  Samudragupta.
‘wm w W aren T e 2 )

e[ A fee wes & ar # o & 2

A THTE (B} =TI

(©) ==w fawmfem (D) HYEH |

(L | PT.O.
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104. The famous temples of Mahabalipuram were built during the reign of

(A) Pallavas (B) Cholas

(C) Chalukyas (D) Kakatiyas.
TR, & Was wiet fF9 wras & wee & anfa a9 ?

(A) Yoo (B =

(C wrgH (D) Tt |

105. For the first time, in which period of Indlan History was the registration of birth and
death of people introduced ?

(A) The Age of Mahajanapadas (B)  The Gupta period
(C) The Kushan period (D) The Mauryan period.
YT gfaerd ® weel! 9/ @il % 91 Ud 9o %1 qeigq e @ § R 2
(A) HETSEUS HTe B) THEEA
©) Fuv FH (D) O FE
106. The tomb of Shetkh Salim Chisti is located at
@& Agra (B) Delhi
(C) Fatehpur Sikri (D)  Ajmer.
Y@ weim favdt w1 qhaw wel foga € 2
A I H B) feehtd
(€) waeR W (D) RH |
107. The author of ‘Nuh-i-Sipthar’ is
(A) Amir Khusrau (B) Malik Mohd. Jaisee
(C) Dara Shikoh (D)  Sheikh Nizamuddin Auliya.
‘¢ fafuee’ & ToEN §
@A) R gEh (B) wfes Hrewe Smad
(©) =z foere (D) Y@ FremEs sitferar |
108. The chlef centre of Chisti School in South India was
(A) Gulbarga (B) Golkonda
(C) Bijapur (D) Bidar.
<fEvft wra A favdt faafast =1 wq@ &= @
(&) e (B)  TiergUe
(C) TR D) R
109. The place where Saint Dadu died is
(A) Sambhar (B) Amber
(C) Narayana (D) Pushkar.
|1 TG @ 9 e v wogd ?
@A) =W B) =
(C) =g (D) 9= |

L T
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Where Saint Jambhoji was born ?
{A)  Pipasar (B) Gagron
(C) Jaitaran (D) Nagaur.
o AT T 9 HE I 97 ?
(A) R B) TRH
(€ SR (D) AFR |
The meaning of the word ‘Dastak’ is
(A) Slavery (B) Factory
(C) Port (D)  Duty-free trade.
‘T e W A ¥ 2
(&) erH B et
(C) =F=<{TE (D) TTH TE U |
Who was the ruler of Chittorgarh during the invasion ( 1567-68 ) of Akbar ?
(A) Maharana Pratap B) Maharana Udai Singh
(C) Jaimal (D) Maharana Amar Singh.
sl & fadtene W A ( 1567-68 ) ¥ THA AE! F URKE HA A 2
(A) HERN Ward (B) weron 359
() T (D) wewmn AR feqe |

Which of the following Mughal emperor's reign was known as the golden period of
Hindt literature ?

(A)  Aurangzeb (B) Akbar

(C) Jahangir (D)  Shah Jahan.
g e AEIE F FT H et e H w0 7 HE A ?
@) stmSe (B) FHFEL

(€ e (D)  wTEwEl |
The French traveller who visited India for six times was

(A) Menucci (B) Bernier
(C) Thavenot (D) Tavernier.
FH-Y WG A6 3 BT AR Wwa A w2

& ® =R

© & D) & |
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115. How many ranks of Mansabdars have been mentioned by Abul Fazl in his

Ain-e-Akbart ?
A 22 (B) 33
€ 44 (D) 66.
HEA-T-FFa T I7ae ol 3 FAEEER] F fat Aol = seera e € 2
A 22 (B) 33
C) 44 (D) 66.
116. Who was the leader of First War of Independence ( 1857 ) at Kanpur ?
(A) Tantya Tope (B) Laxmi Bai
(C) Nana Sahib (D) Kunwar Singh.
YRA % WYH Eaedl 90 (1857 ) FER § Aga fee fwma @ ?
() dien B) @
(C) A \ES o) F= e
117. Who is the author of ‘Majha Pravas' written during 1857 ?
(A)  Vishnubhatt Godse (B)  Sitaram Pandey
(C) Narget (D) Mangal Pandey.
1857 ¥ WA fafEa g ' ward' % o ¢
() foepg ied B) HRM vy
© =R (D) e WO |
118. Who has given the title of ‘Rani’ to Gindalau, the great Naga female leader ?
(A) Rabindranath Tagore (B) Mahatma Gandhi
(C) Jawaharlal Nehru (D) Subhash Chandra Bose.
TR A wgen firgeg 1 T F Iy fe < ot 2
() sy TR B)  TETeE Tt
(C) TamEd AEw (D) 9GuN % T4 |
119. In which language has Mahatma Gandhi written his autobiography ?
(A) Hindi (B)  Marathi
(C) Gujarati (D) English.
HereRT Tt A g seneen fRw v # fee ?
w fesd B) TSl
(© e (D) st

120. In which year did British Parllament pass a law through which has taken overall the
rights from East India Company ?

(A) 1858 (B) 1859

(C) 1860 (D) 1861.

fafew H9e A frg a¢ Fr7 9 =1 &2 few ot & w sfvsr o fad 2
(A 1858 (B) 1859 ’
() 1860 (D) 1861.

TR TR
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121. The Constitution of India was adopted on

(A)  15th August, 1947 (B) 26th January, 1950
(C) 26th January, 1949 (D)  26th July, 1950.
wrdrg gwfaym ary e T

(A) 1537, 1947 FI (B) 26 ¥=adl, 1950 #l
©) 26 ¥Fad, 1949 F) (D) 26 9@E, 1950 |

122. How many fundamental duties have been mentioned in the Constitution of India
Part 4, Article 51-A ?

A 10 (B) 12
€ 15 (D) 11.
YRErE wfguE wm-4, FFe 51-v # Amitet F fead q@ s afvig € 2
(A 10 (B) 12
(C) 15 (D) 11.
123. When was the first meeting of Constituent Assembly held ?
(A)  15th August, 1947 (B) 26th November, 1949
(C) 9th December, 1946 (D) 26th January, 1930.
wfaurm fFmiE aw =it eelt dow w9 smaifom # g off 2
(A 15 3T, 1947 (B) 26 =, 1949
() 9fewwy, 1946 (D) 26 9&Ed, 1930.

124. In the Constitution of India the number of Fundamental rights after 44th Amendment
is

Al 6 B 7
) 8 (D) 5.
yeftg Sfaym ¥ 44 3 d@viva ¥ e g@ dfusnl F g €
A) 6 | 7
© 8 (D) 5.

125. Which is not a characteristic of the Constitution of India ?
(A) Democratic system
(B) Fundamental rights and duties
(C) Employment guarantee to every citizen
(D) Independent judiciary.
yHfg wfaym it -6 e = & 2
() et TEfa
(B) & IfusR vd FdA
() w&F AFF F USIR FH G
(D) A e |
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126. The number of Lok Sabha members elected from Rajasthan is

a 21 (B) 26
(C) 30 (D) 25.
TS R dRa % forg fraffaa geai ot den

A 21 (B) 26
(C) 30 (D) 25.

127. The President of India is elected by
(A)  the people of India

(Bl elected members of both the houses of Parliament and State Legislative
Assemblies

(C) the Prime Minister and Council of Ministers

(D) all the Chief Ministers.

RA 1 agafa g Srar &

(A) WRT F TR R

(B) e F Tl TeAl wd oy faurmawt ¥ fraifaa o= g
(C) wurFH wd wfufeeg & we= g

(D) =9 qErEtEl g |
128. Who is the Supreme Commander-in-Chief of India ?
{A)  The Chief of Army Staff (B) The Chief Justice
(C) The President (D)  The Prime Minister.
YA %1 WA= gANfa FH & 2
@) T T B)  HE T
(€ Tgafa (D) WHFEHH |
129. The Chief Justice of the Supreme Court of India is appointed by
(A) the Vice-President (B) the President
(C) the Prime Minister (D)  the President and Prime Minister,
wRa H el e & ge a5 i e €
@ 3v-Tgdfa B) ugyfa
(© gurHA (D) Tpefd wd gurEEsEt |

130. Who is the Speaker of Rajya Sabha ?
(A) The Vice-President
(B) The Leader of opposition
(C) The Home Minister
(D)  The person elected by the members of Rajya Sabha.
TvFEd H Ul F g 2
(A) zu-TEufa (B) faue =1 Fan
© T HA (D) TR & wew g fAaffaa =afe |
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The largest continent of the world is
(A)  Africa (B)  North America
(C) Asia (D)  Antarctica.
gt 61 Ha) wET HEg ¥
(A) TR (B) 390 amAft
(€ i (D)  wEErEfeE |
‘U’ shaped valley is formed by
(A) rivers (B)  glaciers
(C) winds (D)  underground water.
Ut SR urd) fafida ot @
A AfE g B fewr gw
(C) T gm@ (D) yfama v/ g
In which rocks are layers formed ?
{A)  Igneous (B)  Metamorphic
(C) Sedimentary (D)  All of these.
T e g A e ¥ 2
A Y (B) ®9if@
(C) srEEwE (D) ¥ A=/t |
The lowest layer of atmosphere is
(A)  Stratosphere (B) Troposphere
[C] Ozonosphere (D)  lonosphere.
FrgvEd F gad frach wa @
(A) |HAHTESH (B) &vHvSH
© EEHvEH (D) sTEEUEA |
The sea having maximum salinity in the world is
(A) Red Sea (Bl  Arabian Sea
(C] Dead Sea (D)  Baltic Sea.
fava § waifus wavman aen grr @
(A) T 9FR B) HEF €I
€) Fa | (D) wifees WPR |
Which region of India is associated with ancient Gondwana landmass ?
(A) Himalaya (B) Ganga Basin
(C) Thar Desert (D)  Deccan Plateau.
YIRA 1 BI-F W W= Tiearn 4-4m 4 geEfd € 7
(@) fearem (B) M & A
(€) 9N HEey (D) =feqw &1 WR |
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137. In which type of forest is Sundari tree found ?

(A) Tidal forest (B) Temperate forest
(C) Desert forest (D) Mediterranean forest.
g gu fFa yoR & o+ § s s & ?
(&) e ®) i o
(C) wEEE! o (D) YHHERTE T |
138. The cause of winter rainfall in Northern India is
(A)  South Western Monsoon (B] Western Cyclonic disturbances
(C) Cold wave (D)  all of these.
It WRa § Ve a6 # FRe #
(&)  afei gfed g B) ufred awamg faels
(€) i\ @ (D) T AT
139. Sindri is famous for the production of
(A) Petro-chemical (B) Cotton textile
(C) Chemical fertilizer (D) Cement.
fo= ferae e & fog wfag @ 2
@ - B) TR A
(C) TEMEfE & (D) HiwE |
140. On which river is Bhakra-Nangal Project located ?
(A)  Satluj B) Ganga
(C) Rawvi (D) Vyas.
wrEel-ArTe eiEer faw 76 w fead # 2
(A)  weS B W
(€ e (D) =4 |
141. The main soyabean producing districts of Rajasthan are
(A) Ganganagar — Hanumangarh (B) Kota — Baran
(C) Bundi— Tonk (D} Jaipur — Dausa.
T WA & Y SRS el €
(@A) TR —EEA (B)  Wrer —aRl
© Fqf —A% (D) AR —FE

ARV
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142. In which district of Rajasthan is Tungsten produced ?

(A) Bhilwara (B) Udaipur

(C) Nagaur (D) Jaipur.

e F e o ST o sErA g 7

(A) i@ (B) TR

() Wi (D) &Y |
143. Rainwater harvesting is beneficial for

(A) ftrrigation

(B) agriculture

(C) production of hydroelectricity

(D) improvement of underground water level.

gl Fiel U TEEE ¥
() f=rd & fa ® P Ffaw
(© v faga I ¥ fag (D) Yfama i@ W gurA & fag |

144. In Rajasthan, cities located on National Highway No. 15 are
(A) Bikaner — Nagaur — Jodhpur — Pali
(B) Ganganagar — Bikaner — Jaisalmer — Barmer
(C) Jaipur — Ajmer - Udaipur — Dungarpur
(D) Jaipur — Tonk — Bundi — Kota.
T # TEta Temei- 15 W fem R E
(A) AR — A — S — e
(B) TR — AR — SFHAH — e
(€) VAR — IFFR— ITR — TRL
(D) AR — JF— & — T |
145. The second highest peak of Aravall is

(A) Jarga (B) Ser

(C) Taragarh (D)  Achalgarh.
FrEe w1 e Swaaw e ?

(A S B ™

(€ TmrE (D) =ETE |

NUIWE TR
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INSTRUCTI
( Read carefully mltonplyewmm e WY )
IMPORTANT / @&=rquf

1. In Section Il {Lan, I} a candidate has to attempt the questions of the language which the candidate has selected as
Langu 1 in the Online Appbqa%on Form. ;
4 }lvzsuug‘v:nl;l)[ngwtm ¥ % b & Fw s = ggw i 3 w1 % w9 A SEEA s | fea
; n Sec

11} a candidate has to attempt the cﬂ.lesu'om of the language which the candidate has selected as

i age

Language I in line Application Form, The Language IT will be different from R

; u_rgmaffwﬁﬁ%mmm&mmmmuw%ﬁWntwialn:;gu;&amﬂhmhmlmuﬁﬁnﬁ'ﬂu

. C ate must ensure that the Question Booklet No. has been filled correctly at the prescribed places in the OMR Answer Sheet.

mﬁam. ' owm e T R T G w66 8

4, The candidate has to answer of that subject in Section {IVa) Mathematics and Science or (IVb) Social Studies as sclected by the
candidate in the Onlinc Application Form.
If a candidate answers questions of the lméguage or subject other than selected in the Online Application Form, the
can te shall be personally responsible for it and it would be treated

TGl T T I méwasmwmmuvm mgaa%nﬁwtﬁﬁmm&mhummm
T gy o fsar ¥

3 Y
% apedt 3 EEA AT UF A SO S @ fANg & 9V W e A w0 fawg & vt ® ¥ M g st
=t wd w Pl it o e wEr S " I s i

1 Read complete instructions carefully and fill the details from S1. No. 1 to 6 in the OMR Answer Sheet and Si. No. | to 4 in the
Question Booklet. If you fail to fill the details and sign as instructed correctly, you will be personally responsible for the
consequences ansing during ning of your Answer Sheet. .
e =t gl ®g T3 HR A 1§ 6 7 OMR VIZ U FHE 1 W ¢ 76 W qRewn (FEe) W uly o s e @ik |
farror sA T T A & At OMR ¥z #1 WRET & ForRaey B At RO & i A9 ' Feest g

2. OMR Shect No. shouid be written in the space provided in the Question Booklet.
OMR ¥z HEn W qftersn 3 € it fwifca A Wl A e |

3. The Question Booklet comprises 96 pquhaving 150 questions. After being instructed to open the Booklet, only then the candidates
will open the Question Booklet seais. C Mﬁt{:ruxeaoomﬂcon ins 150 questions s! r:omm.amm.

T3 e 7 06 7% T 150 7o+ §) VA R f6a o % W @ W e e @i | A e e o
150 5% § 91 FiF 93 w@ 3 R wew @ 92 7 K
4. All questions nre of MCQ (Muitiple Choice Questions) type. There is only one corrcct answer to each qucstion carrying one

rk. will b fo
e "oi‘t";g‘mww ’WthﬁdﬁaﬁtwtummiMmm#ﬁwﬁn

A W
5. All questions other than language uestions of S8ections Il and III shall be
WY T % W9 WAl WUE 0T m % WY & KR I i e % v Ll
6. In utxy e;lerat of an‘zemismp: in any question/s, candidates will not be penalized. Howcver no corrections will be made in
ucstion/s du n. ;
%mﬁﬁn&tgmﬁhﬁmwma#m'mﬁmfuim’fﬁhﬂmmmaﬂmw&m
7. Rough work, if any, may be done in the Question klet only in the space provided at the end of the Booklet. Do not tear it off

from the Question Booklet, No additional paper shall be provided
hﬂm*mtﬁhmqﬁmt mim%mt\mﬁhwmqﬁmﬁﬂﬁwﬁuﬁﬂmmaﬁﬁammaﬁmm‘
8. Use of Log tables, Calculator, Slide rule, Mobile phone, Pager, Digital diary or any other electronic item/instrument €tc, is not

a d. ir will rpsult in disqualificatjon.
afore
%w.mﬁmﬁm%%.WMmmmmwmm/mmm ¥

9, OMR Answer Sheet will be provided alon%with Question Booklet separately.
OMR ¥z, w¥ * W™ A B A |

10, The Question Idet will be issued at 1:45 P.M. and the candidate must fill all entries in Queston Booklet and OMR Answer
Sheet. The Question Booklet seals shall be opened at 2:00 P.M. After opening the Question Booklet, ensure that unng:xe/
question is not missing / not printed / torn / repeated. In casc, find any defect anywhere in the Question Booldet, immediately
gﬁorm ltlh;t;lnv_igﬂato; ggdp t it replaced within 10 mimutes by the Invigilator, Warning Bell will ring at 3:25 P.M. and the last

ng rng at 3; M.
T G AN 145 T iy anardh s 9 A e e AT Mg Viz H il st W ot o e A A

W G W wE 2:00 4 ¥) WE Y ged & Tea TS O gAreR % i aed e e g ¥ méznﬂ
qﬁt/mﬁt/mmmaﬂtmﬁiwﬁs'm a 1 afs o S w e i qrt v b o e e @t e WA
10 firmz % ffee dhaw | S W b ] |aa133uaﬁmszzswm«aﬁnﬁ R9ET 3:30 W EAR

11. Write yuur_de:m Cengc ngc.BRo }dNo.. OI‘!i! Mi;wﬂ %hei" :o.. ngsuon Booklet No., Name and put your Signature in the
space provided in the Ques ooklet as well as 3 nswer t. )
m%am%zw mwmhm%:.#aw,on i, W gt s, A ford @ S s wt

12.  With each question you will find 4 possible answers marked by the letters A, B, C & D. Read cach question carefully and find
out which answer, according to &%u is correct. Indicate your answer by darkening the appropriate circle completely in thc OMR
Answer Sheet corresponding to question. For marking answers use blue/black ballpoint pen only. Gel pens / penciis are not

lowed.

w&sﬂo W= % 4R AHEgF I A, B, ¢ 7 p 4 K m &) wwt w1 v ﬁaﬂﬁmmmmmmﬁmvﬁzﬁm

%?wtmmﬁﬁa#mwﬁmﬂWﬁﬁzﬁ#t i T 1 T w1 3 3G w0 F 1 Q@ A w7 oIJ9Em
I

Correct method : | CORRECT / W8 | o0 menoq . | WRONG / 7o WROKRG / TTora WRONG / TR WRONG / TT9id

O OO @ | et BOOO| |0€00| |0000| [C00 e

13. OMR Answer Sheet is designed for corputer evaluation, If you do not follow the instructions given above and shown in the
OMR Answer Sheet, it may make evaluation by computer difficult. Any resultant loss to the candidate on the above account

shall l;ﬁzofgue candidate only. X
OMR Wimtnﬂ%ﬁ%ﬁﬁmmtm&mw&m v 4§ fed m Byt 1 a8 e, @ TR gn
O Tt s o1 T Tt & At 0§} Al S o vl TR W VL

14. Neo candidate should leave the Examination Hall before the final bell. The Question Bookiet as well as the OMR Answer Sheet

&Pu :;%:d s 3%‘%”’{4 w&vgi:‘g%ﬁ:ﬁ?% %% ':;n wmd %! OMR ¥z T W7 YR Sl 81 e
1

T



